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x 5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
PSS AR A 32,254,535 21,179,194 11,075, 341
= 10,456,000
2 8,017,000
= 1,225,200
= 12,556,335
AT 22 12,341,398 9,151,011 3,190,387
2 7,417,000
== 29,700
= 4,894,698
ZAUT UM LCO A 23 10,814,000 7,697,500 3,116,500
2 6,777,000
= 4,037,000
SHEMES SO 7,637,000 4,890,000 2,747,000
2 5,346,000
= 2,291,000
401 AIEHI 2L 2 0H Y] 7,637,000 4,890,000 2,747,000
z 5,346,000
= 2,291,000
01 A& H| 7,277,000 4,579,000 2,698,000
OYR . otUX a4 E ST ALS (BXI2) 5,239,000
2 3,646,000
= 1,593,000
Osaoll Xl A &A= C S A AL 2,038,000
2 1,430,000
= 608,000
02 2teld| 350,000 296, 160 53,840
OYR - StURNLASTEZAS 22H| (5 250,000
2 200,000
= 50,000
OSSN arx=Z 2 AHAISE 22| 100,000
2 70,000
= 30,000
03 Al&E 201 Y| 10,000 14,840 N4 ,840
OYP - GILUX AT EEAY (BXE) 5,000
OSSN LA EAS 5,000
AL UOEX M A Al AE 3,177,000 2,807,500 369,500
2 1,431,000
= 1,746,000
403 XX S M S K201 & 3,177,000 2,453,500 723,500
2 1,431,000
= 1,746,000
02 2J| 2 S 0l CH SHCH & AF 3,177,000 2,453,500 723,500
OAL:T HAUZMAUACIAAE REAS 3,177,000
2 1,431,000
= 1,746,000
SHEXANDISHLE HEE B3 1,527,398 1,453,511 73,887




SA AT AYA
I AT 2R
Ce: SHEXNDDISALE HFA 23 (&9 &)
SHE|
SN FH-SA(EN) - MBAY - BES e HlnE2
o 640,000
(= 29,700
= 857,698
ARDLETALE 29 169,898 168,511 1,387
201 L2 160,478 159,091 1,387
02 2229 H 160,478 159,091 1,387
©Z=Z A Att] 160,478
OXIGt2=2 2= AHI (10JH & 2)2E 13
75,8002 x24974 A 18,875
OHZL2HAH (508 2)8H| 13
27,0002 x31JH A %23 1,674
OHZA2HAH (9N 2)2E 13
217,000 x3174 A 6,727
O0I2a S A AHI (55 & =2)E 13
303,520 x28 10 & 85,290
OltSASTAAH (13E2)201E
56,5209 %2817 A *33] 47,647
Oo%E =AM (BHE2)2|Y
33, 1209 *2J A *43] 265
206 I 24l 9,420 9,420 0
01 XH 24| 9,420 9,420 0
ONISALTHEAAR 22HLETY
70,0009 %302 A 5,100
OllSA+E ASorZ ol
5,000% x3kg 288 A 4,320
EESAMEBRL LAY 554,000 524,000 30,000
2z 388,000
= 166,000
401 Al HI 2 2 0H Y 554,000 524,000 30,000
z 388,000
= 166,000
01 A& H| 550,000 520,000 30,000
SESUMERLIHLAY 550,000
2 388,000
2 162,000
03 Al& 2 HH 4,000 4,000 0
OsSESAMEB LI LAY 4,000
ARDET AL INSAY 360,000 378,000 A 18,000
2z 252,000
= 108,000
401 AlEHI 2 200 360,000 378,000 A 18,000
2z 252,000
2 108,000
01 Al&HI 357,000 376,000 219,000
OLARBETAIAMNSTAIY 357,000
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AN ot A A
Hm: ZZAE 22
©?el: olrE2RMelAMERY (22 &d)
SA - BB B (EH) - NRAY - BES of & o SSa HI D2
3ot 2el 15,258,631 7,712,702 7,545,929
= 8,229,000
& 600,000
< 1,195,500
s 5,234,131
St=2XelAldz2d 1,136,461 918,892 217,569
St=XclAlEd 23 22l 678,086 653,461 24,625
101 @124 H] 29,166 28,741 425
04 JIZtNZ22XNSE+ 29,166 28,741 425
OAL2cd & AEAEXRE UARY 29,166
OPIE=| 36,7203 x2H »250 18,360
ORsS5d+g 36,7203 x2H x52L 3,819
Osg2*2=+8 55,080 «1H »52 2,865
ORsS&Fit=g 36,720 x2& x 12 882
O=UASEES 25,926,000& *4.5% 1,167
OHLESEESRES 25,926,000& »2.9% 752
O RAEERHS 752,000 *6.55% 50
OLEEERE= 25,926,000& *1.4% 363
OdMEEE 25,926,000& *3.5% 908
201 YEr2 Y| 505,360 451,630 53,730
01 AtR 22l | 16,720 16,000 720
oet=EH| 14,200
OHJl=2Hdeltl 13,000
—ot=&&EXclHl 130,000& 100 13,000
Odt=sdlXl d=2=4Hl 300,000& 43| 1,200
o=l 2,520
oxg= 60,000 «14 2 »23] 1,680
O=st 40,0002 x14& »13] 560
O&std=2 20,000 «14H » 12 280
02 332gHl 488,640 435,630 53,010
03223 % MA 432,100
Ott==HMelAEHI RS (EL , 2SAIEELE)
35,000,000& =122 420,000
(OFSIIRUFSE=-K-1]] 100,000& =13 100
OZ2dHMoa d=3/&H 1,000,000 «128 12,000
O¢ =l 1,080
OAIERRXHARHI(ZR)
1,800& *50¢ +12& 1,080
OAIE ZHI S X 50,250
OJIAANE R 22e] 12,700
—gBtE TR 2tel 400, 0003 »3CH 1,200
—=THISI 2 500,000 »5CH 2,500
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AN dot=SAFE A
Hu: 224 22l
¢ StExXelAEdR2E (Sl & &)
SN FH-SA(EN) - MBAY - BES 0l &k o4 il Hl D&
—dsgeEsd 500,000& »20H 1,000
—&EFAZ2H Z2EI/=4 1,000,000 «6CH 6,000
—E=Js2el 1,000, 000 *2CH 2,000
O&IIANE =X 2el 5,450
—J2sSHRNES 50,000 *33 4 1,650
—&IINELAZS 20,000& 101 x108 2,000
— S22 HAHAPCSIHE 7L 200, 000& 4K 800
— =& =4 500,000& »2CH 1,000
O=ZTMS |22l 27,300
—IN/TPEEDI £A2F wH
1,600,000 23! 3,200
— TN/TPOIHI S 1,500,000& 28 3,000
— IN/TPA 2 Al 1,000, 000& *53! 5,000
—C00 &3 1,300,000 «3& 3,900
—C0D JIEtAE S 300,000& »2& 600
—pHOIEl &I LA 1,000,000& =13l 1,000
—SSEFI 225 WA 500,000%23] 1,000
— T 2te|d At 9,600, 000& =12 9,600
Oa g Zdl Xl 4,800
— =M 2HLA 1,500, 000& 23| 3,000
— DOOI &t & = W A 500,000& =23l 1,000
—NASIZEAI NHEHDA
400,000& »23| 800
O Xt & el 2,605,000 «2CH 5,210
202 o4dl 6,700 6,700 0
01 = LH o4 1l 5,650 5,650 0
Oot=HMel A= 5,650
05 SR& W=t 1,050 1,050 0
OetI&ot=T8sl WU 350,000& »3H 1,050
203 R =&t 1,000 1,000 0
03 AIMF=AH R =AY 1,000 1,000 0
Oot=HMelAlE S 2R A 1,000
206 M= Hl 41,660 40,200 1,460
01 MHZ 4l 41,660 40,200 1,460
Oot=HMclAlE &S 31,960
OLS(AHMA) 2203 x200kg x3652 16,060
Can=xsdH 106, 000& » 150 £ CH 15,900
oagazd 9,700
Oags AMNE2Y 50,000 x155 *4 2] 3,000
O&gs =hEs ¢ 80,000 «10& *4 2] 3,200
OHEZ=Z HECIZEE F& 70,0002 +50= 3,500




ASts T AP A
3otk 2d
Ste=E2xXelAMd2d

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 A& HIZ 201 I 93,000 125,190 A 32,190
01 A& HI 93,000 125,190 A 32,190

OB AAE =& (WH) SAL 28,000,000 *14] 28,000
O=sEX£dX 015EBZ WHIA
10,000, 000& *2CH 20,000
Odt=HMelAIES FHI(ZM)ZA
20,000,000& =14 20,000
O3S I HEX WM S A 5,000,000& =3CH 15,000
OE&dEXE &A WX 2,500, 000 *4CH 10,000
405 TtabF S| 1,200 0 1,200
01 et EFSFHSHI 1,200 0 1,200
OOSAABED U MBI 72
1,200,000& 14 1,200

s eANE2E 2 25,000 25,000 0
201 L2l 15,000 15,000 0
02 =224l 15,000 15,000 0

OA&&EHl =Xl 15,000
OzzdHMelAE g2 15,000
—E&8ESZEHA2I =& 5,000,000 «2CH 10,000
— g Hlas =8 1,000,000& *53] 5,000
401 Al HIZ 201 I 10,000 10,000 0
01 A& HI 10,000 10,000 0
OSTZENESH 24 =3 A
5,000,000 =2CH 10,000
St=scdAEsAE29 2 35,000 102,840 AB7,840
201 £B-2dH| 25,000 73,000 A 48,000
02 =224l 25,000 73,000 A 48,000
OA&EHl S Xl 25,000
OfsAE ZEX HISMZE  600& 20, 0000H 12,000
Odt=sd SN2 (DIS5E, 24

10&€) 13,000
—RLIHH 2,000,000 x24! 4,000
—AXJI5IH=+H 1,000,000 45 4,000
—JIEtA2F WA 100,000& x10& *53l 5,000

401 Al HI K 201 I 10,000 29,840 A 19,840

01 A& HI 10,000 29,840 A 19,840
OR=AE HUISA 10,000, 0002 14 10,000

SHEZE 2922 64,760 60, 160 4,600
201 LBt 44,760 40,360 4,400
01 At 22l 3,360 3,360 0




2N Aol AIE A
Hm: ZZAE 22
SR P ENE (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
oOgBtL=2H| 3,360
O ZSHEZE MI|tAMA|IHE =2
150,000& x12& 1,800
ORBHA A LS 130,000 x12& 1,560
02 22244l 41,400 37,000 4,400
0O2Z2Y A 32,400
OZHEZHEIQZ (LY, AN DAL
2,700,000 x12& 32,400
O A& Z&Hl KXYl 9,000
SEHEHEODI S22 6,500
—dEsSWE LM DA 2,000,000& =2CH 4,000
—OIHEHEH 1,000,000 x2CH 2,000
—2NIF X2 500,000& x 14! 500
OYMESHEZES X 22 2,500
—JIEtA2 3 200,000& x5 1,000
— DESA 500,000 =3CH 1,500
401 AlEHIZL £ 0HY| 20,000 19,800 200
01 Al&H| 20,000 19,800 200
OFTHEZLE =TI WM BA
20,000,000 = 14! 20,000
Slx=XelAlE SAZ335 AIY 14,402 15,964 N 1,562
101 Q124 H| 6,302 8,814 N2,512
04 JI2ZtHIZ22NEES 6,302 8,814 N2,512
OftaHANLULTH HEOISY
80,000& x5H 10 4,000
OKRsEXN (S )22l o2
36,7202 x3%H 10 1,102
Odla=HMeIAEULAZR =202 A (NI,
A 80,000 x5 x3& 1,200
201 Bt 2,500 2,350 150
02 E2=2=24%H| 2,500 2,350 150
O 24| 1,500
O =JILECIAI(FER)
22,0002 *504 *153] 1,500
O A& & HI KX 4| 1,000
OO0l =L E&CI 2D =2l 200,000& *5CH 1,000
206 M = dl 2,600 3,600 A 1,000
01 {2 H| 2,600 3,600 A 1,000
OsAIL(M=MS) 200,000 »8Er A 1,600
Oot=XHelANdE =535 P2
2,000 *100H x5 1,000
405 KHoHFE S HI 3,000 1,200 1,800




2N
X ZH -
L= B

el

it
k>

o o o
1+ 0p o
AL 9 >
i 4> I

>
sl
u

wx —
H0
02

o
=

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 AL 2B F SHI 3,000 1,200 1,800
O &L 24 D] 3,000, 000& =1CH 3,000
SlstolEXelAlE2d 319,213 61,467 257,746
201 LEt2 Y| 53,900 57,196 N 3,296
01 AR 22| I 4,200 4,200 0
oYt =2H| 4,200
ORQClHHIAAE L2 150,000& = 12& 1,800
[OFSPIRUPSHN Ry 200,000& x12& 2,400
02 3524l 49,700 52,996 N 3,296
03322 % HA 34,800
Odt=HXelAlE &3 2,700,000& x12& 32,400
OMxx=ER=2 100,000& = 12& 1,200
oske= 100,000& = 12& 1,200
O Al & & Hl 7 XYl 14,900
oE=zaxH 500, 000& ~4CH 2,000
O8€&=HelIIs X 2el 3,000, 000& = 1CH 3,000
O 2L HIS S X 22| 500,000& = 10CH 5,000
OA=EIIS A 2el 700,000& =74 4,900
206 M = Hl 6,313 4,271 2,042
01 & bl 6,313 4,271 2,042
OMZ 4l 6,313
(@I EPNE=FSPA 9,000& x1.8kg*x365 5,913
OXOIE AMULES 20,000& x202 400
401 Al HI L 2 0HHI 259,000 0 259,000
01 A& HI 259,000 0 259,000
O3gdteXeldE &322 HAILAIXMA 25
259,000,000& =14 259,000
ot el &Are 7,625,000 4,758,000 2,867,000
= 4,033,000
= 600,000
& 1,195,500
= 1,796,500
DEMEIMESTSAIE 1,200,000 840,000 360,000
= 600,000
& 300,000
= 300,000
401 Al HI YL 2 0HHI 1,200,000 840,000 360,000
= 600,000
& 300,000
= 300,000
01 A& HI 1,170,000 808,000 362,000
ONSEMENNESSAL 1,170,000
= 585,000
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AN dot=SAFE A
Ny ZRolAT B2
Sl ot K2l ZALY CERED
4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| o 164,000
dEd=sHEOISot=S UM 720,000 286,000 434,000
= 504,000
< 108,000
e 108,000
401 A& HIZ 201 Y] 720,000 286,000 434,000
= 504,000
< 108,000
s 108,000
01 A& HI 720,000 286,000 434,000
OFHEdsOHELSo=SEH ALY 720,000
= 504,000
< 108,000
[ia 108,000
2 Mol el =g 24 100,000 0 100,000
401 AIEHI L 2 CHYI 100,000 0 100,000
01 A& HI 100,000 0 100,000
Ound= =M0IE 2elHE =88H 100,000
MESHEDNSot=SHEALS 287,000 0 287,000
= 86,000
< 50,000
s 151,000
401 AIEHIZL 2 0] 287,000 0 287,000
= 86,000
< 50,000
s 151,000
01 A& HI 287,000 0 287,000
OUREsHENSSH=ZHE ALY 287,000
= 86,000
< 50,000
[ia 151,000
DA Gt FY JAE(HE) +Es8Y 400,000 0 400,000
401 Al HIZ 201 8] 400,000 0 400,000
01 A& HI 400,000 0 400,000
ONEZ ot dHl JI2HE(HE) =8 EZ 400,000
St 2 1AL 6,239,000 1,841,000 4,398,000
= 4,196,000
[ia 2,043,000
SOt HUIALE 245,000 100,000 145,000
401 AIEHI L 20 245,000 100,000 145,000
01 A& HI 245,000 100,000 145,000
OSdol=EZHlAY 245,000
OLnd fA0tSct=SFHI S A 20,000
Oostol SE0tSot=S=FHI S At 25,000
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BB - Sl (31) - NRAY - BES Ol &+ o4 SSa HmEET
OOt @I AHDISot==Z Bl S A 30,000
OHE dzhtSct=SFHI S At 20,000
ONFEGt=MelE =E22F TMSTES ALY
150,000, 000& * 14! 150,000
HEHSH=2HEHIALS 3,985,000 997,000 2,988,000
= 2,790,000
s 1,195,000
401 Al HIZ 201 Y| 3,985,000 997,000 2,988,000
= 2,790,000
s 1,195,000
01 A& HI 3,585,000 895,000 2,690,000
ONHZHI =2 HEH ALY 3,585,000
= 2,510,000
[ia 1,075,000
02 2eltl 400,000 100,000 300,000
ONFHOl=ZHEHIALS 400,000
= 280,000
e 120,000
S Zot=2 H2EH ZHI A 2,009,000 744,000 1,265,000
= 1,406,000
s 603,000
401 Al HI K 201 I 2,009,000 744,000 1,265,000
=2 1,406,000
s 603,000
01 A& HI 1,707,000 636,000 1,071,000
ODNHESot==ZH2EHBBIALY 1,707,000
= 1,196,000
s 511,000
02 2teldl 300,000 106,000 194,000
ONESdtx=& H2EAHZHHI ALY 300,000
= 210,000
s 90,000
03 AIE 2 THHI 2,000 2,000 0
ONE St H2EH ZHI ALY 2,000
St % 2el 258,170 194,810 63,360
OISot=Z A8 2F 22l 258,170 194,810 63,360
201 YEr2 | 46,360 46,360 0
02 3322l 46,360 46,360 0
o0322= & HA 33,060
OAAZ233ctHMelAME &8s
130,000 x 1904 A~ *12& 29,640
OALnE233dt=HelAd A TEL
90,000 * 197K 2 *23] 3,420
O A& &EHl s Xl 13,300




2N Aol AIE A
Ny ZRolAT B2
el slaceY o B2 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OALARABZ2Z20E=XH2AE JHAERXNNE S
ull 700,000 1904 A~ 13,300
202 o4 | 3,000 3,000 0
01 2Ll 3,000 3,000 0
Odle= AIg 23 20| 3,000
203 €2 F=&d| 1,000 1,000 0
03 Al ZH =X 2= XH| 1,000 1,000 0
Odtx= A0l 2&2 1,000
307 2Iz2t0| & 144,450 144,450 0
05 QIZt9 &2 144,450 144,450 0
OATFHBRZEZ20E=HeAE 2H/E 144,450
OARRZ 2o HelAIASEAAH (213])
150,000& 700 A 12 12,600
OARRZ 2o HelAlASEAAH (F=13])
150,000 120 A %523 93,600
OANAES2H o1AH| 51,000 x2H x 185 18,870
OM=2g Al 45,000 x 19 A 43| x4H 13,680
OA& 29| 300,000 *19JH A&~ 5,700
401 A& HI L 2 0HHI 63,360 0 63,360
01 Al&H| 63,360 0 63,360
OALATAHBRZEZ26IE=HEAE JIsd S
10,560, 000& *6IH 2~ 63,360
A 2H A 89,481 89,481 0
Jl2dY (AT AL A) 89,481 89,481 0
HAEFXAHY| 3,000 3,000 0
203 € R F=&d| 3,000 3,000 0
04 EASHEIRFAH| 3,000 3,000 0
OFRMNMSI YR 250,000 x12& 3,000
B2 AH| 50,481 50,481 0
201 et 9| 50,481 50,481 0
01 AP 2t 2] H| 48,637 48,637 0
oYt 2H| 20,433
OBA2YII22H| 5,825
OEAIEH(EH )L 300,000& *13| x2CH 600
QUOIMERHIIEHEH(EH )R
120,000 *23| *3CH 720
QU0 MEZ2HIIZ2AEH(EYH )R Y
400,000 *13| = 1CH 400
(OFSY= PIR==3=e]] 1,300 x300 x12& 468
OGYANsSEPF2LHIL A E 300,000& 13| 300
O2AESX 7Y 20,000& *308F A 33| 1,800
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2AMN: Aot ALY A
Hu: @AY
SRl Jl2F Ul (Aot A A) (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
o887 140,000& = 12& 1,680
OALE AR EZ 01 A D 22| 120,000& = 12& 1,440
OMLEZAIESS XS 600,000 = 12& 7,200
o294 25,180
O &b 50,000& x1H 116 5,800
O=ZH(HBY) 50,0003 1 %252 12,600
O=&Hl (2 - E) 60,000& *1¥€ 113 6,780
O =&l 3,024
O A2HEI =22 | 3,024
02 53294l 1,844 1,844 0
O A& &Hl S XY 1,844
O& K= A 22l 300, 0003 x23| x2CH 1,200
OZEglHIlzx2l 34,0003 *43| *4H 544
O ARSIl 100,000& = 13| = 1CH 100
O bl 36,000 36,000 0
202 (4] 36,000 36,000 0
01 2L Y| 36,000 36,000 0
OJI=2gd R30I 200,000& x15H x12& 36,000
HEE= (AT AIHA) 4,565,025 4,226,000 339,025
== 2,227,000
= 2,338,025
LHEHeH KIS (Mot AFE A) 2,338,025 1,938,000 400,025
MAECEEIHNES 2,307,025 1,910,000 397,025
701 JIELS HEEZ2 2,307,025 1,910,000 397,025
01 JIEtSI HE &= 2,307,025 1,910,000 397,025
OM+-EEEIHEEZ 2,307,025
O X B A= G Al & SHEFAFS 712,000
OXNSAMAS:C2AE2H 22 ] 600,000
O (&)Ll 941,225
OEFIIEXAY 10,000
O2dsSHAEEY 2 X 22 43,800
TEHINLEEFHEES 31,000 28,000 3,000
701 JIEIS HE =2 31,000 28,000 3,000
01 JIEtSH N E= 31,000 28,000 3,000
Ox&EMNEELEIHNTEZ 31,000
Odeotitssdt== 29| 9,000
OM=0I8dtx=E24d9H]| 3,000
Oo2d0Isdtx== 29| 10,000
OslisdtE=c29]| 9,000
SIS (Aot Z AL A) 2,227,000 2,288,000 A61,000




SA: ABIAZAIYA
HH: WRES (Yot ALY A)
€@l BEEXNE(Mot=Z A A) (Sl & &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 2,227,000
DEGt=HMel EEXAMLE N SAE 1,954,000 2,009,000 A 55,000
= 1,954,000
311 X+ S0l A& & 162,400 217,400 A 55,000
= 162,400
06 JIEtXH S0l At & & 162,400 217,400 A 55,000
ONHdot=HelEA XA E XSO0 A& E 162,400
= 162,400
601 Xt S A S && 1,791,600 1,791,600 0
= 1,791,600
06 IIEI=UHXE S sate 1,791,600 1,791,600 0
OLNHot+=HMeEEXMNLENSIASAE 1,791,600
= 1,791,600
DEot=HMelEDEMelAlEMgd st s oE 180,000 184,000 A 4,000
= 180,000
311 Xt S0l At &f & 30,800 34,800 A 4,000
= 30,800
06 JIEFXHS 3 O AH&f & 30,800 34,800 A 4,000
ODNHYot=HXelZDEXelANEALE XS0 A&
= 30,800
= 30,800
601 Xt S =4 149,200 149,200 0
= 149,200
06 JIEI=2UHXtY S 3 aE 149,200 149,200 0
ODMB4HAF DT HANLANRSNZ RSB
= 149,200
= 149,200
DEGIHel ESH XN Ml AEALENRAL S 4 93,000 95,000 A 2,000
= 93,000
311 X+ 201 Xk &k 2 13,800 15,800 A 2,000
= 13,800
06 JIEFXHS 3 Ol AhH&f & 13,800 15,800 A 2,000
ODnYot=HXelZsA XMl ANEALEXS0I A
== 13,800
= 13,800
601 XL S A S &2 79,200 79,200 0
= 79,200
06 IIEI=UHXE Sz aE 79,200 79,200 0
ODNYot=HMelZBsHXNMAANEMNSEN=—E S
== 79,200
= 79,200




